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��	�
������
  1   ����	�
���

�����������������
����������������������������� �

�-
����"� ���#���$%������ �&'��$%�����(� � 2549       

ns   =   -�#�� �������#���.�����&
�
 

 

 

��	�
������
 2   �/��0�"1��0��������$������������������������������� �

�����"� 
�#���.
��� �.���
��  �/2���3����� 8 �./$�50  5�.�����5���������0 

ns   =   -�#�� �������#���.�����&
�
 
**   =    �� �������#���.�����&
�
�3#�����.3�8� .�3
��  �����$.
 �����%���.�� 99% 
 #��.��������8��.
$��3�.�:��������#���#���.�����#���$�;0�� �������#���.�����&
�
	�����
�/��3
���3
 #��<���3 �$3�
=� DMRT 

 

 

 

 ���3����� ("�.�#�30x30 ��."�.) 
��������0 

���� � ���� � �G:;� � ���(� � 

-�#��$ PBZ 10.21 12.96 64.56 30.92 

           ��$ PBZ 9.95 11.24 39.29 30.39 

F-Test ns ns ns ns 

C.V. (%) 66.14 11.57 59.15 32.97 

�./$�50 
��������0 

2 4 6 8 

    -�#��$ PBZ + -�# �.���
�� (�T$ �
 T�) 22.67 21.52 18.95b 12.24b 

    ��$ PBZ + -�# �.���
�� 27.91 30.24 40.31ab 42.94a 

    ��$ PBZ +  �.���
�� 2 �$%�� �#��������$�� 24.97 37.69 49.13a 56.53a 

    ��$ PBZ +  �.���
�� 1 �$%�� �#��������$�� 15.44 30.70 37.81ab 44.66a 
F-Test ns ns ** ** 
C.V. (%) 29.97 25.44 18.97 14.62 
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��	�
������
 3    ������������� ��0�
-W�$���������
 (��.��#��
����.�) ���������������  
 �������������� �

�����"� �#���.
��� �.���
�� ���#���$%������ �&'��$%��  
 ���� � 2549       

ns   =   -�#�� �������#���.�����&
�
 
 

 
��	�
������
 4    �������������-�����	��������
(��.��#��
����.�) �����������������   

 ������������ �

�����"� �#���.
��� �.���
�� ���#���$%������ �&'��$%�� 
 ���� � 2549       

ns   =   -�#�� �������#���.�����&
�
 
 

��3����� 
��������0 

���� � �T�;��.�=0 ���� � 

    -�#��$ PBZ + -�# �.���
�� (�T$ �
 T�) 112.08 103.38 80.93 
    ��$ PBZ + -�# �.���
�� 132.87 115.66 80.10 
    ��$ PBZ +  �.���
�� 2 �$%�� �#��������$�� 93.87 97.68 73.39 
    ��$ PBZ +  �.���
�� 1 �$%�� �#��������$�� 91.41 94.81 79.23 

F-Test ns ns ns 
C.V. (%) 22.02 30.18 13.61 

��3����� 
��������0 

���� � �T�;��.�=0 ���� � 

    -�#��$ PBZ + -�# �.���
�� (�T$ �
 T�) 24.02 25.50 21.44 

    ��$ PBZ + -�# �.���
�� 26.54 24.46 24.63 

    ��$ PBZ +  �.���
�� 2 �$%�� �#��������$�� 25.37 24.46 21.62 

    ��$ PBZ +  �.���
�� 1 �$%�� �#��������$�� 26.49 28.55 24.56 

F-Test ns ns ns 

C.V. (%) 6.48 6.79 5.57 
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��	�
������
 5   �.$�#�� C : N �������
����������������������������� �

�����"�   
 �#���.
��� �.���
��  ���#���$%������ �&'��$%������ � 2549   

ns   =   -�#�� �������#���.�����&
�
 
 
 
 

��	�
������
 6   ������������� ��0�
-W�$���������/�%���
��(��.��#��
����.�) ������  
  ����������������������� �

�����"� �#���.
��� �.���
��  ���#���$%��  
  ���� �&'��$%������ � 2549       

ns   =   -�#�� �������#���.�����&
�
 

 

 

��3����� 
��������0 

���� � �T�;��.�=0 ���� � 

    -�#��$ PBZ + -�# �.���
�� (�T$ �
 T�) 4.67 4.02 3.77 

    ��$ PBZ + -�# �.���
�� 5.21 4.79 3.24 

    ��$ PBZ +  �.���
�� 2 �$%�� �#��������$�� 3.72 4.01 3.27 

    ��$ PBZ +  �.���
�� 1 �$%�� �#��������$�� 3.50 3.33 3.32 

F-Test ns ns ns 

C.V. (%) 24.88 29.30 12.96 

��3����� 
��������0 

���� � �T�;��.�=0 ���� � 

    -�#��$ PBZ + -�# �.���
�� (�T$ �
 T�) 170.36 194.26 133.59 

    ��$ PBZ + -�# �.���
�� 254.94 160.85 145.63 

    ��$ PBZ +  �.���
�� 2 �$%�� �#��������$�� 214.16 267.88 96.04 

    ��$ PBZ +  �.���
�� 1 �$%�� �#��������$�� 171.84 170.08 162.88 

F-Test ns ns ns 

C.V. (%) 23.20 21.25 46.18 
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��	�
������
 7    �������������-�����	��������/�%���
��(��.��#��
����.�) ������������ 
 ����������������� �

�����"� �#���.
��� �.���
��  ���#���$%������ �&'� 
 �$%������ � 2549       

ns   =   -�#�� �������#���.�����&
�
 
 
 

��	�
������
 8   �.$�#�� C : N �������/�%���
������������������������������� �

����- 
  �"� �#���.
��� �.���
�� ���#���$%������ �&'��$%������ � 2549       

ns   =   -�#�� �������#���.�����&
�
 

��3����� 
��������0 

���� � �T�;��.�=0 ���� � 

    -�#��$ PBZ + -�# �.���
�� (�T$ �
 T�) 15.29 17.46 18.51 
    ��$ PBZ + -�# �.���
�� 17.88 19.87 21.93 
    ��$ PBZ +  �.���
�� 2 �$%�� �#��������$�� 13.79 18.74 18.23 
    ��$ PBZ +  �.���
�� 1 �$%�� �#��������$�� 21.94 20.82 21.03 

F-Test ns ns ns 
C.V. (%) 23.49 17.00 16.99 

��3����� 
��������0 

���� � �T�;��.�=0 ���� � 

    -�#��$ PBZ + -�# �.���
�� (�T$ �
 T�) 12.26 11.70 9.08 

    ��$ PBZ + -�# �.���
�� 16.18 8.52 6.73 

    ��$ PBZ +  �.���
�� 2 �$%�� �#��������$�� 17.37 14.51 5.29 

    ��$ PBZ +  �.���
�� 1 �$%�� �#��������$�� 8.07 8.34 7.65 

F-Test ns ns ns 

C.V. (%) 37.15 32.26 43.79 



 98 

��	�
������
 9   �/��0�"1��0��������$������������������������������� �

�����"�   
 �#���.
������������"�3�-����� ���/5�%�-���3[���3 �/2���3����� 8 �./$�50   
 5�.�����5���������0 

ns   =   -�#�� �������#���.�����&
�
 

 

��	�
������
 10   ������������� ��0�
-W�$���������
(��.��#��
����.�) ��������������� 
  �������������� �

�����"� �#���.
������������"�3�-����� ���/5�%�  
  -���3[���3 ���#���$%������ �&'��$%������ � 2549       

ns   =   -�#�� �������#���.�����&
�
   
*    =    �� �������#���.�����&
�
�3#�����.3�8� .�  �����$.
 �����%���.��95 % 
 #��.��������8��.
$��3�.�:��������#���#���.�����#���$�;0�� �������#���.�����&
�
	�����
�/��3
���3
 #��<���3 �$3�
=� DMRT 

�./$�50 
��������0 

2 4 6 8 

   -�#��$ PBZ + -�#<�$�#���� (�T$ �
 T�) 22.67 21.54 18.95 12.24 
   ��$ PBZ + -�#<�$�#���� 27.91 30.24 40.31 42.94 
   ��$ PBZ + <�$�#� KNO3  15 g/L 31.41 30.36 29.66 26.22 
   ��$ PBZ + <�$�#� Thiourea 3 g/L 18.02 21.15 21.15 19.78 

F-Test ns ns ns ns 
C.V. (%) 59.30 57.19 51.02 58.46 

��3����� 
��������0 

���� � �T�;��.�=0 ���� � 

   -�#��$ PBZ + -�#<�$�#���� (�T$ �
 T�) 112.08 103.38c 80.93 
   ��$ PBZ + -�#<�$�#���� 132.87 115.66bc 80.10 
   ��$ PBZ + <�$�#� KNO3  15 g/L 181.73 208.99a 56.87 
   ��$ PBZ + <�$�#� Thiourea 3 g/L 178.27 193.44ab 63.29 

F-Test ns * ns 
C.V. (%) 19.35 26.14 17.03 
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��	�
������
 11    �������������-�����	��������
(��.��#��
����.�) ����������������� 
������������ �

�����"� �#���.
������������"�3�-����� ���/5�%�  
-���3[���3 ���#���$%������ �&'��$%������ � 2549       

ns   =   -�#�� �������#���.�����&
�
 
*    =   �� �������#���.�����&
�
�3#�����.3�8� .�  �����$.
 �����%���.��95 % 
 #��.��������8��.
$��3�.�:��������#���#���.�����#���$�;0�� �������#���.�����&
�
	�����
�/��3
���3
 #��<���3 �$3�
=� DMRT 

 

 

 

 

 

 

 

 

 

��3����� 
��������0 

���� � �T�;��.�=0 ���� � 
   -�#��$ PBZ + -�#<�$�#���� (�T$ �
 T�) 24.08ab 25.50 21.44 
   ��$ PBZ + -�#<�$�#���� 26.54a 24.46 24.63 
   ��$ PBZ + <�$�#� KNO3  15 g/L 20.59b 24.93 22.34 
   ��$ PBZ + <�$�#� Thiourea 3 g/L 20.95b 21.65 22.34 

F-Test * ns ns 
C.V. (%) 8.57 9.34 17.72 
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��	�
������
 12   �.$�#�� C : N �������
����������������������������� �

�����"�  
�#���.
������������"�3�-����� ���/5�%�-���3[���3 ���#���$%������ � 
&'��$%������ � 2549       

 ns   =   -�#�� �������#���.�����&
�
   
**   =    �� �������#���.�����&
�
�3#�����.3�8� .�3
��  �����$.
 �����%���.�� 99% 
  *   =    �� �������#���.�����&
�
�3#�����.3�8� .�3
��  �����$.
 �����%���.�� 95% 
 #��.��������8��.
$��3�.�:��������#���#���.�����#���$�;0�� �������#���.�����&
�
	�����
�/��3
���3
 #��<���3 �$3�
=� DMRT    

��	�
������
 13   ������������� ��0�
-W�$���������/�%���
��(��.��#��
����.�) ������ 
  ����������������������� �

�����"� �#���.
������������"�3�-�����    
  ���/5�%�-���3[���3 ���#���$%������ �&'��$%������ � 2549       

ns   =   -�#�� �������#���.�����&
�
 

��3����� 
��������0 

���� � �T�;��.�=0 ���� � 

   -�#��$ PBZ + -�#<�$�#���� (�T$ �
 T�) 4.67b 4.04b 3.77 
   ��$ PBZ + -�#<�$�#���� 5.21b 4.79ab 3.24 
   ��$ PBZ + <�$�#� KNO3  15 g/L 8.89a 8.38a 2.63 
   ��$ PBZ + <�$�#� Thiourea 3 g/L 8.53a 8.94a 2.97 

F-Test * ** ns 
C.V. (%) 18.86 20.97 12.64 

��3����� 
��������0 

���� � �T�;��.�=0 ���� � 

   -�#��$ PBZ + -�#<�$�#���� (�T$ �
 T�) 170.36 194.26 133.59 
   ��$ PBZ + -�#<�$�#���� 254.94 160.85 145.18 

   ��$ PBZ + <�$�#� KNO3 15 g/L 298.51 99.61 128.82 
   ��$ PBZ + <�$�#� Thiourea 3 g/L 346.86 100.65 134.48 

F-Test ns ns ns 
C.V. (%) 23.94 29.41 40.43 
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��	�
������
 14    �������������-�����	��������/�%���
��(��.��#��
����.�) ������ 
����������������������� �

�����"� �#���.
������������"�3�-����� 
���/5�%�-���3[���3 ���#���$%������ �&'��$%������ � 2549       

ns   =   -�#�� �������#���.�����&
�
 

 

��	�
������
 15   �.$�#�� C : N �������/�%���
������������������������������� �

����-
�"� �#���.
������������"�3�-����� ���-���3[���3 ���#���$%������ �
&'��$%������ � 2549       

ns   =   -�#�� �������#���.�����&
�
 

��3����� 
��������0 

���� � �T�;��.�=0 ���� � 

   -�#��$ PBZ + -�#<�$�#���� (�T$ �
 T�) 15.29 17.46 18.51 

   ��$ PBZ + -�#<�$�#���� 17.88 19.87 21.93 

   ��$ PBZ + <�$�#� KNO3  15 g/L 17.77 21.12 19.62 

   ��$ PBZ + <�$�#� Thiourea 3 g/L 15.76 16.73 19.76 

F-Test ns ns ns 

C.V. (%) 32.59 21.87 24.80 

��3����� 
��������0 

���� � �T�;��.�=0 ���� � 

   -�#��$ PBZ + -�#<�$�#���� (�T$ �
 T�) 12.26 11.70 9.08 

   ��$ PBZ + -�#<�$�#���� 16.18 8.52 6.73 

   ��$ PBZ + <�$�#� KNO3  15 g/L 17.52 4.92 6.72 

   ��$ PBZ + <�$�#� Thiourea 3 g/L 22.67 7.21 7.21 

F-Test ns ns ns 

C.V. (%) 45.16 41.21 41.92 



 102 

������� 

��	����	�����	� �!��	�"#$%�&	�  (Total Nonstructural Carbohydrate) 

"&:��;�  Clegg Anthorne Method (Osborne and Voogt, 1978) 

��	��	�: ?�	�� � 

1.  ����3���$�/��0 ���
� 52 % 	����$�/��0 ���
�������� (sp.gr.1.70)/�
���� 
270 �
��
�
�� �#��i8� 100 �
��
�
��  5�.�	���.i����5�����31��#���8�-/��� 

2.  ����3���$".�jk��
�  	����$".�jk��
�������� 760 �
��
�
��  ���i8���.�� 330 
�
��
�
��  5�.�	���.i����5�����31��#���8�-/���  

3.  ����3��.��8�/l
�
�
3� �$3�����$".�jk��
��������3�-��  �8�-/����3� antrone 
0.1% (��������3��������3�5�#�T� �.i�������������
� ���50)  

4.  ����3��������3��[� �����m��  	����[� � 100 �
��
��.�  ���i8���.�� 100 
�
��
�
�� 

5.  ����3��������3��[� ��	%�	������m��  	���������3��[� �����m����� 
4. /�
���� 10 �
��
�
��  ���i8���.�� 100 �
��
�
��  (1 �
��
�
�� = 0.1 �
��
��.���[� �) 

��	��	�: ?�	@�@�:�A�B:C�
DEF 

1.  �.���.��3#���%�
$�����3$ 1.0 ��.� ��#����$/�.
/�
�������$ 100 �
��
�
�� 

2.  ��
��i8���.�� 10 �
��
�
��  �����#����� �	�����.���/2���%i��$�3��.� 

3.  ��
���$�/��0 ���
�������� 52 % /�
���� 13 �
��
�
��  �����#����� �	��5�
�/2���%i��$�3��.� �3#�����3 20 ���� 5�.�	���.i�/�.
/�
�����������3�.��3#���/2� 100 �
��
�
�� 

4.  �8��������3�.��3#������$��3���$�:����  ����$/�.
/�
�������$ 250 
�
��
�
�� 

5.  ������$/�.
/�
����$��3�i8���.��  5�.�	���.i����������3������$/�.

/�
�������$ 250 �
��
�
�� ���/�.
/�
�����������3�.��3#���/2� 250 �
��
�
�� 
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GAH��B���	�&?B# 

1. �8��������3�.��3#�����	%�	��  �$3���/�
�����������3�.��3#�� 10 
�
��
�
�� �#��i8� 100 �
��
�
��   

2.  $[$�������3�.��3#���	%�	��/�
���� 1 �
��
�
��  ��#��5��$�$��� 

3.  ����3� blank �$3����i8���.��/�
���� 1 �
��
�
�� ����������3��[� ��	%�	��
����m�� /�
���� 1 �
��
�
��  �3#���� 2 5��$   

4.  ��
��������3 anthrone  reagent /�
���� 5 �
��
�
�� �T�5��$  /k$p�����
��3#��5��������3����.��/2����� 

5.  �8��������3���-$�-/������i8��$%�$��� 12 - 15 ����  	���.i��8��5��31��3#��
��$��1�����Tq5;[�
5��� (25 ��r��"��"�3�) 

                                6.  �8��������3���-$�	����� 6. -/�.$ #�$[$��%���� (absorption) ��� ���3��
 �%��  630 �������� 

 7.  �8� #����-$��� 8���q  �$3����[�� 

                     /�
��q ��0�
-W�$�� (mg. Glucose / gm. dry wt.)  =  (25 x b) / (a x w) 
                                                                                            a   =   #�$[$��%���������[� ��	%�	�� 
                                                                                            b   =   #�$[$��%��������.��3#���%� 
                                                                                            w  =  �i8�5�.��.��3#���%� 
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��	:CB:�A�B:C�
DEF�DE
B����	����;��IB���	 

��	:CB:"&:JFK�	&LA@MN�	�� (	8��/2�, 2547) 

��	��	�: ?�	@�@�:�A�B:C�
DEF 

1.  �.���.��3#���%�/����q 0.1000 ��.� (�������
�i8�5�.���#���) ��#��5��$
3#�3���$ 100 �
��
�
��  �8��
�� 0�$3�8�-/��
������#�/l
�
�
3������$��#��$�3��.
�.��3#�� 

2.  ��
������#�/l
�
�
3���-//����q 1 ��.� 

3.  ��
���$".�jk��
�������� 3 �
��
�
��  3#�3
����3#�3�.��3#������Tq5;[�
 250 
��r��"��"�3�  /����q 20 ���� 

4.  �8�-/3#�3�����3#�3  �$3����Tq5;[�
 380 ��r��"��"�3�  	�����.���� ��� 

5.  ��1
�������3-����.��5�-�����	� 
 

��	����	����$�"�	�O�J�DEF 

��	��	�: ?�	�� � 

1.  ��$".�jk��
� (Sulphuric  acid) �������  (98 %  w/w  H2SO4) 

2.  �
�$
� ����0y�� (Mixed  indicator) : ����3��=
���$ (Methyl red) 0.066 ��.�  
����
������"������ (Bromocresol green) 0.999 ��.�  ����=���� (Ethanol) 95 % w/w  
/����q 80 �
��
�
��  ����	'�/�.
/�
����$��3��=�����/2� 100 �
��
�
�� 

3.  ��$
��
�y���
�$
� ����0 : ����3��$
��
� (Boric acid : H3BO3) 40.00  
��.����i8�����/����q 1,800 �
��
�
��  ���5��31�	'���
��
�$
� ����0y����-//����q 20  
�
��
�
��  	�-$��������3y�����#���$� (5���/2������[�#���5� #�3 { /�.
$��3�"�$�3�-W-     
$���-"$0 0.1 �����0  /����q 2.5 | 3 �
��
�
��)  	���.i�	'�/�.
/�
����$��3�i8���.���5��/2� 2  
�
�� 
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4.  �������3�"�$�3�-W$���-"$0 40 %  �i8�5�.��#�/�
���� (w/v) :  #�3 { 
����3�"�$�3�-W$���-"$0 (Sodium hydroxide : NaOH) 400 ��.� ���i8����/��r	��-����  ���
/�.
/�
���� �$3/����q�/2� 1 �
�� 

5.  �������3��$".�jk��
� (Sulphuric acid : H2SO4) 0.01 �����0 : �.i���� �� 
����3� 1 �����0 �#��  �$3�����$".�jk��
�������� (98 % w/w  H2SO4)  �� 55.4  �
��
�
��  ���
/�.
/�
����$��3�i8�/��r	��-�����/2� 1 �
��  	���.i�	'��	%�	���/2� 100 ��#�  �����8�-/5�
 ���������������#���  �$3�8�-/-������.
�������3��
�-W$���"���=
����
�����=�  
(THAM) 0.02 �����0  	8���� 5 �
��
�
��  -�����	�������
�$
� ����0y�����������3 THAM 
�/���3�	�������3��/2������[  
.��'�/�
������$".�jk��
�������  ��� 8���q5� �������������
��#��������$".�jk��
� 

��;���	����	���� 

�$3����������3�.��3#�����-$�	�����3#�3�$3�����$".�jk��
�  

1.  �����.��   ��
��i8���.����-/���.��3#��/����q 10 �
��
�
��  ��
��"�$�3�-W
$���-"$0/����q 10 �
��
�
��  �����.��-�����	�  �$3����.
$��3��$
��
� 5 �
��
�
��  
	�-$�/�
����/����q 30 �
��
�
�� 

  2.  ���-�����   �8��������3�����.��-$�"'���������3���-������.
�������3��$
".�jk��
�������� 0.01 �����0  	��/���3��/2������[ ���
.��'�/�
�����������3��$
".�jk��
�������-����� 

       �8� #����-$��� 8���q5�/�
��q-�����	�  �$3����[�� 

-�����	����%� (g/kg)  =  28.01M(V-B)/W 

  �$3        M1      =     ��������������������3��$".�jk��
�������-�����  (�����0) 
   W     =    �i8�5�.��.��3#���%� (��.�) 
    B     =    /�
�����������3��$".�jk��
�������-������.
�
�� 0 (�
��
�
��) 
    V     =    /�
�����������3��$".�jk��
�������-������.
�.��3#���%� (�
��
�
��) 

 




